ENGR4300
Crib Sheet
Quiz 3


Zener Diodes:
	Zener Diode
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	Zener Diode, with knee current
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555 Timer:
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	On-Time: 
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Off Time: 
[image: image7.wmf]1

)

2

(

693

.

0

2

C

R

T

=


Frequency: 
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Period: 
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Duty Cycle (percentage): 
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Inductance and Resistance:
	Long Coil 
	Ring shaped Coil
	Wire Resistance
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Ideal Transformers:
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	input impedance: 
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Op-Amp Circuits:
	Buffer
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	Adder

[image: image21.png]r2
|4
R

P

w
b U
0 -2
2] fowb
ot G






[image: image22.wmf]2

3

1

1

2

1

in

in

out

V

R

R

V

R

R

V

-

-

=



	Ideal Active Integrator [image: image23.jpg]
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	Miller Integrator [image: image26.jpg]At
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	Ideal Active Differentiator
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	Practical Active Differentiator
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